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- Half Yearly Examination - 2023
Sub : General Mathematics

Class : IX
Time:3 hrs. Full Marks : 90

The figures in the margin indicate full marks for the question.

SECTION-A
(Question No. 1 to 45 carries 1 mark each) i
(2 5 1 9 45 o1 T o TeE 1) 2
1. Which one of the following number is rational - '
SO (B! el ARG -
a) V3 bwa -cJJ_ d)m
2. Thc value of 125 lS - '
iR 125 N 2?9 - b
;h 95 b5 a0
3. The abscissa of the point (-3,4)is -
(:14) ﬁm ™= ﬁ o
~a) 3 b) -3 c) 4 d) -4
4. What is the co-efficient of 2 of the polynomial 2 — x2 + 3,
2 — x* + x> I2PMOIR xziﬂ@‘lﬁs?
a) -1 b) 1 c)2 d)-2
5. The co-ordinate of ongm 1§ .'-~ £
1 R ZAIS Tl - |
a) (0,a) b)(a 0) i ‘b) (-3, 0) d) (0, 0)
6. The distance of x-axis frpm the point (3, -5) is -
x- SFa 211 (3, =5) RABI g
a) 3 b)-3 " “c)iSEEt d)_5
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10.

11.

12.

13;

(2)

B TRRED o Ll

g

Which one of the following is not a criteria for congruence of

triangles -
TR (I fape FTeR 6 72 -
a) SAS J-cIA) b) ASA ((FI1-C3)
c) SSS (3= d) AAA (CFI-GI-GI)
Two numbers are called co-prime if their common factor is -
7B TR FENER e T Frod ARt S -
a) -0 bl c) 2 |
d) Product of two numbers (%R O “J31F1)
A decimal expansion is terminating if the remainder is -
451 i R ~femig 3 Rt 2 IR SIie -
a) Non-zero (SfT) b0 ¢l d) Negative (JTF)
The degree of a non-zero constant polynimial is -
<51 ST RS TR WA T -
a) 0 b) 1 c) 2 d)-1
When x = —1 the value of f(x) = 5x —4x* +3is -
cafemt x = -1, f(x) = 5x —4x> + 33T~
a) 3 b) 6 c) -12 . d) 6
When x° — 1 is divided by x — 1, the remainder will be -
@’ -19x-1 Gmtﬁiﬂ,@ﬂt‘ﬁ'{‘i-
)1 b2 o0 -2
Which of the following is a polynomml -
Oe] (ol @Ol @AM -

2

ik E¥Ly : -
e T 1

) >+1 b)x+{548

o o

14. Equation of a line passing thmugh tht; origine is -

|@15.

17.

18.

19.

20.
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135.

16.

7.

18.

19.

20.

a) x+y=1 b)x=2y-4 ¢ Xx+y=0 d)y-x+1=0
If a ray stands on alme, then the sum of the two adjacent angles

so formed is -

WW@W@W@W&W q@@mﬂfﬁfﬁ@mq

VORI T -

a) 270%  b) 1807 *"é)' 34500 d) 90°

Which of the following i is a reﬂex angle - '

S (IO <Ot ei@m@i @ﬁ = -

a) 180° b)179°  c¢) 181° d) 361°

If an acute angle of a nﬁht angled triange is 50°, then the other is-
aﬁaﬁwﬁ?ﬁwwwmq 50°, CoTT =Gt 29 -

a) 40°  b) 50° c) 60° d) 90°

If ABCD s a pamlellogram, then which is correct ?

ABCD@?TWW@HZWW?’
a) ZA = /B b)AA AC ¢) ZA = /D
d) None (4518 728)

P Q, R and S are mid pomts ofAB BC, CD and DA respectively
of a thombus ABCD. /. &0
aﬁWABCDaAB BC CDWDAWWWP QR
wiF S 20 PQRS "o:‘wﬁ-

a) Rhombus (¥3®) b) Rectangle (TI9)

c) Square %)  d)Trapezium (CGFIERIN)
The solution of the equation x + 2y = 6 1s -
FHTFIIBR TG T -

2) 22) )22 02,2 )02

P.T.O.



21.

22,
23,

24,

235.

26.

27.

28.

29.

30.

31.

32

~ kA w

)

A numbers when reduced by 5% becomes 133.
nymber ? |

&1 AT 5% TP IRE 133 T, AN
Simplyfy (/@ 1) : (5 +3)(5 —ﬂ)
Ifm=nthena™ +a"="?

A m=nzF, C@a"+a"=?

What is the co-efficient of x? in (X — 1)(x + 2).

(x - 1)(x? + 2) I2oMUore X% 7o il @
Ifa+b+c=0thena’ +b’+c>=2
MMa+b+c=0@@mal+b>+c =7

Find one pair of solution of linear equation 2x +y = 4.

2X +y = 4@%@«@%@«%&1 40|

What is the full form of CPCT ? =

CPCT 3 =2} %l f& 2

What is the equation of y-axis ?

y-ST FAPICO! 2

Expand : (2x + 1)°

Remaa s 2x + 1)°

Write the condition under which the graph ofax + by + c = 0
passes through the origine ?

ﬁmu+by+c_0ﬂﬁwm1ﬂﬁtﬁmm?
If (x — 1) is a factor of 4x> + 3x2 —-4x+k,thenk-‘?

MW 4x° + 3x2 —4x+k?{~£l31‘@epnw(x 1) T, (oG k =
Convert 3.523 into — qT form

3.523¢-quﬁaWWI

What is the
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33.
34.

35.

- 36.

57.
38.

39.

41.
. 2x+3y=k.

42

43,

(5)

Express into percent : 'ZSG

OIS e 1 S zrr
Express 0.01% in fraction..

0.01% 3 SAXS A F11 |

If— = 0.142857 then find the value of —7-
zﬁ = 0.142857 (ot = 5 3 i i e
Slmphfy CRA ) -

11 %
Write the degree of polynimial of 4 — y2

4 — y? MR Wiat &7 |
Find p(1) for p(x) - (x - l(x + 2)

p(x) = (x — 1(x + 2) IR p(1) Tl a1
Factorise : 27y° + 12_5z ;
Teolive Rcsre T4t ¢ 27y° + 1252°.
Find the zero of polynomial p(x) = 2x + 1.
p(x) = 2x + 1 IV GBI %+ Tferedt |

Find the value of 'k'if x = 2, y = 1 is a solution of equation

M x =2, y—mﬁwzusy kwﬁwmac@mam

Gfered |
The cost of a note book is twice the cost of a pen. Write a llnear

equation in two variables to represent this statement,

3 (BIPIAZIT WA B! FoTog wis qoel | @2 SiETh! ovm @ais
5! 5e1PY@ bl (AR Haet o7 |

Write the RHS rule of congruence of two triangles.

7! fagers 5FmeR RHS R fidl| il



46.

47.

48.

49.

50.

1%

(©6)

. If ZA =75° then what is the value of reflex ZA 7

T ZA = 750 (ors SeRSlZA { WA e

: ; o 9
. What is the value of an exterior angle of an equilateral triangle "

451 FRIE fIged ARerd GO Wi fFI e
SECTION-B
(Question No. 46 to 53 carries 2 marks each)
(2Pt 72 46 T 53 *fat T ACTFA FURT 2) |

- - - 2
Rationalise the denominator :
o AT~ \5

y 2
ﬂvlﬁquw.————ﬁ_ﬁ

Locate {2 on the member line.

MLPIEAS {2 T T e 4|

Factorise : 6x* + 5x — 6.

Besiinas Reeiad 31 : 6x% + 5% — 6.

Devide 3x* —4x> - 3x -1 by x— L.

3xt - 4x3 - 3x - 1 2T x - 1| AT

In which quadrant or on which axis do each of the points (-2, 4),

(-1, 0), (-3, -5) and (1, 2) lie ? :

(-2, 4), (-1, 0), (-3, =5) TI% (1, 2) <& &SI Y B! G

3 (IO TFO DACR? '

If the lines PQ and RS intersect each other at 'O’ such that
/POR : ZROQ =5 : 7, then find all the angles produced at O.

3fi PQ W% RS (@ TEIE #F1 'O’ {F® 36150 3@ e
Z/POR : ZROQ = 5 : 7 (903 O 7® Ceoy @Rl vt Rens
@il Sfered|

Contd..07..

P s A



e ?

, 4),

that
0.

1..07..

52.

93+

I.d;v k : s e

@)

In fig, ZPQR = ZPRQ then

prove that, ZPQS = /ZPRT.

f5a® ~/PQR = ZPRQ (S8 =

e 9 4, LPOS S ZPRIE S O R T
AD is an altitude of an isosecles AABC in which AB = AC. Show

that AD bisects BC and ZA.

s AABC 1 AD 9o Baf% T AB = AC (133 (%, AD

54.

3.

@ o BC 9% ZA TR fes 3|
' SECTION-C
(Question No. 54 to 60 carries 3 marks each)
(2 7 54 9 60 *31 T AT FRS 3)
If an object is sold at Rs 500, there is a loss of 5%. At what
price should it be sold to gain a profit of 5% ?
431 @ 500 TS R IR 5% (FITEH T | G201 F 7o

G 5% S TAREA ¢
If x = 1 + /2, then show that (x—-—;—)g‘ =8

| ﬂﬁx'=1+ﬁmmﬁm(x—-i—)3=8

56.

57

Or
Simplify :-WW)Tﬁ-_E+—J—§£—ﬁ + @:ﬁ
If a? + b2 + ¢ — ab —bc — ca = 0 then show thata=b =c.
3t a2 + b? + ¢? — ab —be — ca = 0 (T (RSN Aa=b=c.
Or

If x +y + 2 = 0 then show that x° + y° +Z = 3XyZ.
'ﬂx+y+z=0mmczlx3+y3+z3=3xyz.
Draw the graph of the equation X +¥ = 4,

P.T.O.




58.

e —

8)
X +y = 4 FRII0R @7 S 34|

. . 0
Prove that the sum of the three angles of a triangle 1s 180"

o9 R @, 9Bt e et e TS 180°.

S9.

60.

61.

62.

Or
Prove that the sum of the angle of quadrilateral is 360°.
oI T (@, <O POgER (i (201 TS 360°.
Prove that angles opposite to equal sides of an isosceles triangle
are equal.
o 9 @, mwmﬁwww@mﬁm mﬁﬁ
I | |
ABCD is a parallelogram and AP L BD and CQ 1 BD, show
that AP = CQ.
ABCD @& AP L BD % CQ L BD, (74&dl G AP = CQ.
SECTION-D _
(Question No. 61 to 62 carries 4 mark each)
(2P 2 61 T 62 #F (7 AT FEHIT 4)
Prove that the diagoals of a parallelogram bisects each other.
2l T (@, GO ANBRTI 39 ol 2 TRfes =
Or |
Show that the diagonals of a Rhombus are perpendicular to each

~ other,

(6T (@, TR T TOI AT 77 |
Prove that if two lines intersect each other then the verucally

opposite angles are equal.
ol 1 (3, J O @A AR TR I ot Sesim R
fRPi9Te AT @eIEIT T

ook ok ok kR ook
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